il
W
St
%
I

1. THE4
THE4 R 3 5P HAAa X R (2o 2) TH
THH4 L I VR R ) | | PN T VG B ) e
2. THEHNE
1)  HEI4 BIRESEREFESTT LR
2) £ I & ERKS R T
3) T Eiij] 282 H i H AF0 T 4A 14H
& 4AFn 84E 1H20H
4) TEyE

E LAma  JUN TR )R




Vol =] =]
FEENRE s
TH4 | BIRE3SEHmaMXERE (F02) TF
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
JERRH R X 1 42, 844, 250
HEELT = 1 28, 430, 317
HRHEI T = 1 6,016,566 |#HH] 10, 140 m3
o =7 iy EEM 5, 000m3LL E
FHIA O-27) 10, 000 m3
+1 &850, 000m3ATH ;
PEHI L (ICT) = 1 4,119,676 |#@HI (ICT) 4, 100 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
A
HEHEI (ICT) 470 m3
w0 FrEidEE
A 4,100 m3
+wp A7 by b FR LM REEEME 5, 000m3LL E10,
000m3 AT ;
A 470 m3
w0 FrEidEE
FHIA Ob-27) 940 m3
+1 &850, 000m3ATH ;
BEARRE AT = 1 204, 650 | BRI (L) B+ 30 m3
2. 5mAT ;
EuNE R 40 m3
2. 5mPL 4. OmATi ;
AR T (ICT) =X 1 16,014 | B4 (FLtd) A% 1= (ICT) 60 m3
BT T (ICT) = 1 1,643,704 |{EMEEETE (G) L) (ICT) 710 m2
VY = W R OB = CREE L
TEHEFETE (8] 1356) (ICT) 820 m2
AT
BRI (B 1356) (ICT) 120 m2
EiHkEEOAF Y
552 7)) =X 1 232,893 |#EY av))-} 50 m2
18-8-40 (mfi) 3v))—MKRIHEIHIHE

-1- E ta2@d Ui




Vvl = =]
FEENFRE s
TH4 | ERB3EEAMEBMREE (£02) THE
TSy « TfE - FER B {7 ¥ & & # A bl A iR
P ALER T 2 1 16, 196, 814 | L Hb25EHE 9, 180 m3
0 Cabl- EHIRY £5Te) ;
b E 8, 640 m3
0E
L 2 1 6, 826, 818
fliAE T = 1 6, 826, 818 | fH A= FLAF AT 1,140 m2
Sem FEAEFEAA AT T 1000m2LA L ;
ANTHEZ 180 m2
M
HEKHEEY T = 1 5, 497, 300
EELT = 1 632,486 | FRIE D (FEHI) 1 X
/e =g
RIE O (HRHED) 1 X
/e =g
i 1 X
+4)
i 1 X
-
HEL 1 2V
HmEEE 1 =X
FHIA (=27) 1 =X
(et v b 2s)
T S T ImPL E2mA i
AT = 1 582,080 |7 L¥vANUZLAITE 7 m
300X300 (/K& M)
7" Vv A NUBRMAITE: 33 m
360X 360 (ZKB%H)
7" Vv A NUBRMAITE: 3 m
450X 450 (/K& H)
7" Vv A NUBRMAITE: 2 m
600X 600 (/K& H)

TAZIEE LN )R




|

PR AR E s

TH4 | BRE3SHEAMEMXEE (Z02) TH

LKy - LA - FER WAL

e
B
&
Sle
.
=
S
%

510 | BT BRI 1 (£
(heghm )
500X 500X 500-1 Bl3GFTHF 18-8-25 (mikF) 14
HEZEAHEIE

BGHT K 1 (£
(heghm )
500 X500 X 500-2 Bl3GFTHF 18-8-25 (mikF) 14
HEZEAHEIE

BT B K 1 (£
(heghm )
800X 800X 800-1 ElIG¥THF 18-8-25(mikF) 14
HEZEAHEIE

EC ) 2 %
500 X 500 (600 X 600X 3. 2) ;

EC ) 1 %
800 X 800 (900 X 900X 3. 2) ;

KMk v/ T = 1 23

o

986, 060 | /NERHEAK 94 m
(UBRITHE)
{3 OKEEH) PR 300mm PN 300mm ;

Pk T

o

3,066, 164 |3EY 2/7)-} 398 m2
18-8-40 (&F)  av))-ME B e

5527 ) =}

o

TE AT R itk T 49, 555

49,555 | BESHL 5 S
R & AR L

o

R T

o

S RSLER T 331, 130

1 331, 130 | RULER/ESE 1 =

o

JERALERESE T

o

A 1,709, 130

o

441,120 |REEHEKE 80 m
ERREER VIR ¢ 300 V)T v (B ;

K T

-3 - E ta2@d Ui




B
T
iy
i
I

&=

TH4 | BRE3SHEAMEMXEE (Z02) TH

TEHX4y « Tfd - FER B Az £ & #A i il R
A ERE E T = 1,268,010 |ACiE#AEZ0m 5 1 =
[ERAE Xy = 42, 844, 250
HiE R = 12,932, 715
BISTIGE: = 8,128, 715
TE R = 720, 700 | HE AL FR IR o) AR A T s 2 1 =
Hefif & = 5,656, 420 | xR 1 =
ARy 1 =
HeffrE sy = 1,250,595 |{R5FEEL(ICT) 1 =
YATLIE 2 (ICT) 1 F2V
TE R AT -IMERE A 1 =
BGRESGESE (5 L) = 501, 000
B (FEHL) = 4, 804, 000
T = 55, 776, 965
Bl gy = 17, 669, 000
T =5l = 73, 445, 965
— R A = 12,924, 035
T =AM = 86, 370, 000

TAZIEE LN )R




